


g City of Upland, Building Division

‘ #8460 North Euclid Avenue Upland, CA 91786 (909) 931-4110

GUIDELINES FOR PATIO CONSTRUCTION

CHOOSE ONE THAT BEST FITS YOUR
DIRECTIONS CONDITION

1. DO NOT USE PENCIL OR RED INK
2. IF FRAMING PLAN IS DIFFERENT FROM WHAT
IS SHOWN ON THIS FORM USE AN ADDITIONAL O
T THE FRAMING PLAN.
3. SPGSSITOTI-Slgg\gLngnTg: NG FLAN (0  ZEROLOT LINE RESIDENCE
a. TWO COPIES OF SITE PLAN (SEE EXAMPLE
SHEET 1.
b. TWO COPIES OF PATIO PLANS (SHEETS
2 THRU 6).
¢. A BUILDING APPLICATION FORM.

SINGLE FAMILY RESIDENCE

O CONDOMINIUM RESIDENCE

O TOWN HOUSE RESIDENCE

PATIO COVER REQUIREMENTS

1. HEADER/BEAM: HEADER SHALL BE [J SINGLEHDR [ ] DOUBLE HDR
(TABLE A)
2. JOISTS/RAFTER: JOIST SHALL BE AT o.C. [JSNGL. JOISTS [] DBL. JOISTS
(TABLE B)
3. ROOF SHEATHING: SHEATHING
(TABLE D) @
4. FOOTINGS: [ sLaB O _N/ FTG (] PLASTIC
(TABLE C)
5.ATTACHMENT TO [ DETAIL 1/6 (] DETAIL 2/6 (] MODIFIED BITUMED
BUILDING:
6. ROOFING MTL:  [] LATTICE L] ROLLED COMP (J THERMOPLASTIC SINGLE-PLY
(TABLE E)
) HEADER SPAN HEADER SPAN RAFTER SPAN 4" MAX CANT.’
SEE TABLE "A" SEE TABLE "A” SEE TABLE "B”
RAFTER SPACING 3/ (3/8) (/2 OOF SHT'G
3 NG NGV \5 /> RAFTER SOLID OR
S ! Er2c)
1] | - id D&E
— = )/ i { M\
‘N2 / >
=z =] 7]
S . / HEADER
LATTICE O K :gg / LEDGER | %
ROO'F'NG v © =2 %POST MIN. 4x4_\ 3z
g — = @
:: :: - / m \ 0? (l‘
NEY | —
/ EXISTING 7 / ( g )
RESIDENCE . *
SN 7 777

FRAMING PLAN CROSS SECTION

Page 2

Revision 01, 03-03-09



60-£0-€0 “T() UOISTASY

¢ 28eg

AB A A RA R SPA AB AB B
ADER RFTR !..IGHTWEIGHT ROOF SOLID ROOF
- | (CENTER-TO-CENTER) (CENTER-TO-CENTER)

HDR. SIZE SPAN SIZE 16° | 24| az'| 3e'| a8 | 0| 720 | 16* | 24°| a2° | 3e* | 48
4" x 6" OR2-2" x &" ie'-2" 2" x 4° 16783677267 | 73" 6. 9"|5.9" |5 9" |9-0" |8'-0° | 1-2" |1-0" |&'-0"
4" x8'OR2-2" x & 3°.6" xe’ e'-0" |3 o | R-e" | (167 103" | 1.3 |8 3" | 3"\ & 4" |11 6" |t 0" |9-6"
4' x12° OR 2-2" x 12" 16°.6" xe oo -0 |- .1 |0 s 06" e -2 167 21 |1z20"
4 x 12" OR2-2" x 12" 190" xio"  le-o'|e-0'l k-0 e-0'| 5.1 | 4.2 | 3o 60" e 1o 160" | 146"

4" x 4° 2-e' | 110" 1007|797 | 59" | 5.3"| 79" |12-0" |I2’-6"|¥-0" | 529" |&-0"
4'xe' -0 le-0' | -2 53| 3.1 |13-0 | 22" 1e'-0' | le'-0" | I5-0" | 14-e" | 323"
4' x 8" lo'-2'| l6'-2'| I6'-0'| l6'-2" | I6'-2" | I6*-0" | 18'-2" | 16*-0° | 162" | 16'-2" | 162" | 16"~ 2"
Q FOC AR 1010 A AR )
POST |RAFTER SPAN ROOF SHEATHING SPAN
SPC’ € g | 10|12 |4 |16 |0 |20 3 X i s%'.# SPACED SPANS ON EDGE ﬁ"-'g-'
a-00 | 7NN T T T T 2t PLYWOOD INDEX 32/0 (Bd 6'x6'x12* ©.C.) 32
6-0" || 7 7| T aTRAIGHT SHEATHING (2 -8d) 32
g0 || TN T T o o | e | o] 2t STRAIGHT BHEATHING (2 -ledl) | 48’
10-0" | 7 | | e e et et e R 010 ) .z; ..',,' ,Tz
w2-00 | T T | e | e el P el Ber] - - No FOOTING REQUIRED (3 172° BLAB ONLY)
P - . . . 2~ ] o ' = 12 Q. FOOTING
14'-0 - | 2l el er| et et 0] ter « 16 8@, FOOTING
w6-0' | T 4| | e Per| e Yo Cio §f-'23f-'§§'§§3¥&°
-0 | | o | e Fierl Fie| Ziol Sie] So FOOTING BIZE AT——[,7"7] _———FOOTING SIZE AT
20-0" | | Aen| A 2o 2] €57 67l 165 T]  END POST(S) ol CENTER POST(3)




TABLE E
ROOFING (LIGHTWEIGHT)

. APPROVED PLASTIC (MANWFACTURER'S SFECS.)

2. SPACED WOOD (TABLE D)

ROOFING (SOLID)

. COMPOSITION (2-15* & 92* CAP)

7. GRAVEL (300 GRAVEL OVER 3 LATERS OF [5® FELT
HOT MOP®ED BETWEEN)

MATERIAL SPECIFICATIONS

. CONCRETE fc = 2502 P.S.I.

2. WOOD DOUGLAS FIR 2 OR BETTER
3. PLYWOOD ' P.S.1.-82

4. BOLTS A 305

Page 4

Revision 01, 01-01-09



ALL EXPOSED FASTENERS & HARDWARE MUST BE GALVANIZED OR ZINK COATED.

4 X 4" POST ———| b
"SIMPSON” STRONG—TIE———\ 5"
OR EQ. ADJUSTABLE MIN
POST BASE (ABA-44) \
3 1/2" THK. (MIN) 5
CONC. SLAB

|

1/2" ¢ APPROVED ;
ANCHOR BOLTS ANDO

4 X 4" POST — =TI

"SIMPSON” STRONG-TIE P~

OR EQ. ADJUSTABLE

POST BASE (CB-44) N

& (2)-5/8"¢ BOLTS o

3 1/2" THK. (MIN)

CONC. SLAB | .
a

[ S i PR
IT: [ —

il

=]y
rﬁ -
Lo -

%—L

—TT=RT

=111
_ SBE
TABLE "C” °

= ]

/ 2\ PAD FOOTING

/ 1\ SLAB FOOTING
\5_/ TABLE "C”

4 X 4”7 POST

"SIMPSON” STRONG—TIE || °
OR EQ. COLUMN POST N
BASE (CB—44) W/
(2)-5/8" ® BOLTS

’—

2 rZ
CONC. PIER ‘ : : © =
=] | — |
- \‘ L HI=
| = =
= ||
f\ji:lﬂ?—?ﬁ—?
SBE
TABLE "C”

/ 3\ PIER FOOTING

5/
"SIMPSON" STRONG—TIE OR

EQ. L—STRAP (OL STRAP TIE)
BOTH SIDES W/ 5/8"8 BOLTS

——ROOF SHEATHING - SEE TABLE "D"
——HEADER - SEE TABLE "A”
—2X RAFTERS -~ SEE TABLE "B”

SIMP. STRONG-TIE OR EQ. —
T-STRAP W/ 6-5/8"¢ BOLTS

Vm

ﬂ\ HEADER ELEVATION

[oo
L

NEW

Page 5

Revision 01, 01-01-09



City of Upland, Building Division

460 North Euclid Avenue Upland, CA 91786 (909) 931-4110

ALL EXPOSED FASTENERS & HARDWARE MUST BE GALVANIZED OR ZINK COATED.

e | SEE TABLE D & B | IAEXIST’G ROOF OVERHAND

l
i :
W | | -A-35 @ EA SIDE OF EA RAFTER

ROOF SHEATHING SEE ——
x \ \—SIMPSON U-26 OR EQ. WITH APPROVED NAILS. <

| TABLE "D" OR TABLE “E"
L
\\\L_s/s" DIA X 5” PRE DRILL HOLE > EW%
FOR LAG BOLTS WITH WASHERS @ 16” 0.C i @
f i
5 x LenoR e 77 7

}

24" MAXD
EXTERIOR STUD WALL 7, _j&
j—— X TERIOR STUCCO EXIST'G 2 X FASCIA
2 X LEDGER E
L= SECTION USE 1/2" BOLTS @16 OC

WITH WASHERS ON BCTH SIDES.
RAPTERS (SEE TABLE "B")
W/SIM, U-26 OR EQ. WITH APPROVED NAILS

" 7?11%5?&2?% —3/8" ¢ X 5" LAG BOLTS

- L ©16” 0.C.STAGGERED

i : FAcé;\—-M~2 X LEDGER
1 "\ LEDGER DETAIL / 2\ EAVE_CONNECTION
\&/ NCY
4 X 4" FALSE POST ROOF SHEATHING — SEE TABLE
, | "D & E” (SOLID OR SPACED)
ROOF SHT'G SEE ——— i ! 2 X RAFTERS — SEE TABLE "B"—
TABLE "D & E | CONT. 2 X BLOCKING W/ 16d
SOLID OR SPACED ! NAILS @ 8" O.C.
\ AN | \\
\ She
DBL 2 X RFTRS ;\IMPSON " A@LgaR,,NgTCE A=35
SEE TABLE "B" TG HEADER — SEE = (S)II{Mggog il
(2)-5/8"8 THRD HURRICANE TABLE "A” HURRICANE
BOLTS W/ FLAT TIES OR E8 T OR L STRAP ————— TIES OR E8
WASHERS EA. SIDE E%EEE%S T (OL STRAP) BOTH SIDES| | RAFTERS T
4 X 4" POST - ° W/ 5/8"¢ BOLTS. SEE HEADER.
(WHERE IT OCCURS) o~ DETAIL 4/5
~ 4 X 4" POST ————= | _
/)\(
/ 3\ HEADER DETAIL /4 \ HEADER DETAIL
8/ \&8/

Page 6

Revision 01, 01-01-09



